Mu Alpha Theta National Convention:  Hawaii, 2005

Trigonometry Topic Test – Mu Division

1. How many petals does 
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A) 3
B) (
C) 2(
D) infinite
E) NOTA 

2. Evaluate: 
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A) 
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B) 
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C) 0
D) 1
E) NOTA 

3. Which of the following describes the behavior of the graph 
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 is the greatest integer function)?

A) continuous
B) removable
C) jump
D) infinite
E) NOTA 

    
   discontinuity
    discontinuity
    discontinuity

4. If 
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A) -24
B) -6
C) 0
D) 3
E) NOTA 

5. Two particles are at the same location at t = 0s and then begin to move away from each other at an angle of 60(. If one particle is moving at 4 m/s and the other at 3 m/s, how fast is the distance between them changing at t = 2s?

A) 
[image: image10.wmf]  
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 m/s
B) 
[image: image11.wmf]  
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 m/s
C) 
[image: image12.wmf]  

37

 m/s
D) 10 m/s
E) NOTA 

6. Which of the following is equivalent to
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? NOTE: The constant of integration in all answers is zero.
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E) NOTA 

7. If (4, 
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) is a point in space represented by spherical coordinates, what is the Cartesian representation of the point?
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E) NOTA 

8. Evaluate:
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A) 2

B) 0
C) 3
D) Does not exist
E) NOTA 

9. If 
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 wherever both are defined?  For all answer the constant of integration is 0.
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[image: image30.wmf]  

sec

x

+

csc

x


B) 
[image: image31.wmf]  

tan

x

-

cot

x


C) 
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D) 
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E) NOTA 

10. Which of the following is equivalent to 
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B) 
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D) 
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E) NOTA 

11. Which differential equation yields the following slope field?
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[image: image39.wmf]  

dy

dx

=

sin

x


B) 
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E) NOTA 

12. Evaluate 
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 and the domain of the cosine function is extended to include complex numbers.
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D) No solution
E) NOTA 

13. What is the area of the graph enclosed by 
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14. Evaluate:
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E) NOTA 

15. Evaluate:  
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A) 
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D) Does not exist
E) NOTA 

16. Simplify: 
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A) 0
B) 1
C) 
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E) NOTA 

17. Evaluate: 
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[image: image64.wmf]  

-

1

2


C) 
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E) NOTA 

18. What is the coefficient of the second non-zero term in the Maclaurin series for tan(x)?
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B) 
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C) 1
D) 2
E) NOTA 

19. What is the arc length of the curve given by the parametric equations 
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evaluated exactly

20. Which of the following equations has cos(20() as a zero?

A) 
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D) No such equation exists
E) NOTA

21. If 
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E) NOTA 

22. Evaluate: 
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A) 0
B) 1
C) e
D) (
E) NOTA 

23. Find 
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, with the constant of integration in all answers equal to zero.

A) 
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E) NOTA 

24. Which of the following expressions is equal to 
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E) NOTA 
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E) NOTA

26. How many of the following are equivalent to 
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A) 1
B) 2
C) 3
D) 4
E) NOTA 
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28. What is the maximum of the real function 
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29. What is the area of the region between 
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30. Which of these are true for all real values of x?
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A) I, IV, V only
B) II, III, IV only
C) II, IV only
D) I, II, III, IV, V
E) NOTA 
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